



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\left(\frac{3}{2}\right)^2 - \frac{3}{4}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{6} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} + \left(\frac{1}{2} + \frac{1}{4}\right)^2 =$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{2}{3} - \frac{1}{5} - 4^2 =$$

$$\left(\frac{1}{6} + \frac{1}{6}\right)^2 + \frac{1}{4}\left(\frac{1}{2} + \frac{3}{2}\right) =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{5}\right) \times \frac{1}{2} + \left(\frac{1}{5} - \frac{3}{4}\right)^2 =$$

$$\left(2 - \frac{1}{3}\right)^2 + \frac{1}{2} \times \frac{1}{2} \times 2^2 =$$

$$\left(\frac{3}{4} - \frac{2}{3}\right)^2 + \frac{1}{5}\left(\frac{1}{5} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(4 + \frac{1}{2}\right)^2 - \frac{1}{4} \times 2^2 + \frac{1}{2} =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{3}{4} - \left(\frac{1}{5} - \frac{1}{6}\right)^2 =$$

$$\left(4 - \frac{3}{2}\right)^2 + \frac{1}{3} - 3^2 - \frac{2}{5} =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\left(\frac{3}{2}\right)^2 - \frac{3}{4}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{1}{4}\right)^2 = \frac{15}{16}$$

$$\left(\frac{1}{6} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} + \left(\frac{1}{2} + \frac{1}{4}\right)^2 = \frac{91}{144}$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{2}{3} - \frac{1}{5} - 4^2 = \left(-\frac{1018}{75}\right) = \left(-13\frac{43}{75}\right)$$

$$\left(\frac{1}{6} + \frac{1}{6}\right)^2 + \frac{1}{4}\left(\frac{1}{2} + \frac{3}{2}\right) = \frac{11}{18}$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{5}\right) \times \frac{1}{2} + \left(\frac{1}{5} - \frac{3}{4}\right)^2 = \frac{929}{3600}$$

$$\left(2 - \frac{1}{3}\right)^2 + \frac{1}{2} \times \frac{1}{2} \times 2^2 = \frac{34}{9} = 3\frac{7}{9}$$

$$\left(\frac{3}{4} - \frac{2}{3}\right)^2 + \frac{1}{5}\left(\frac{1}{5} + \left(\frac{3}{5}\right)^2\right) = \frac{2141}{18000}$$

$$\left(4 + \frac{1}{2}\right)^2 - \frac{1}{4} \times 2^2 + \frac{1}{2} = \frac{79}{4} = 19\frac{3}{4}$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{3}{4} - \left(\frac{1}{5} - \frac{1}{6}\right)^2 = \left(-\frac{527}{1800}\right)$$

$$\left(4 - \frac{3}{2}\right)^2 + \frac{1}{3} - 3^2 - \frac{2}{5} = \left(-\frac{169}{60}\right) = \left(-2\frac{49}{60}\right)$$